
qm=;++ ljj/0f
n]vf k/LIf0f gePsf] -?=nfvdf_

 klxnf] q}dfl;s 

! >f]t -!=! b]lv !=% ;Dd_ 250,489.44                     
!=! r'Qmf k"FhL                     170,000.00 
!=@ hu]8f tyf sf]if                       53,969.40 
!=# aLdf sf]if                        25,527.26 
!=$ dxf–ljkQL hu]8f sf]if                           992.79 
!=% ltg{ afFsL lb3{sflng C0f tyf ;fk6L
@= pkof]u -@=! b]lv @=%_ 250,489.44                     

@=! l:y/ ;DklQ -v'b_                         4,607.72 
@=@ lb3{sflng nufgL tyf shf{                       70,893.00 
@=# v'b rfn' ;DklQ -# – $_ 174,988.73                      
@=$ ckn]vg jf ;dfof]hg x'g afFsL ljljw vr{ 
@=% gfkmf gf]S;fg lx;fjaf6 ;f/]sf] gf]S;fg -                                 
# rfn' ;DklQ shf{ tyf k]ZsLx? -#=! b]lv #=# ;Dd_ 297,414.65                      
#=! gub tyf a}+s df}Hbft 4,796.73                           
#=@ cNksflng nufgL tyf shf{ 181,713.27                        
#=# cGo ;DklQ 110,904.65                        

$= rfn' bfloTj tyf Aoj:yfx? -$=! b]lv $=$ ;Dd_ 122,425.92                      

$=! rfn' bfloTj 17,078.16                          
$=@ c;dfKt hf]lvd jfkt Aoj:yf 55,504.36                         
$=# e'QmfgL x'g afFsL bfjL jfkt Joj:yf 20,465.90                         
$=$ cGo Aoj:yf 29,377.50                         

qm=;++ ljj/0f klxnf] q}dfl;s

! cfDbfgL -!=! b]lv !=$ ;Dd_ 4,668.21                         
!=! cfo Aoo lx;fjaf6 ;f/]sf] 1,238.39                           
!=@ nufgL shf{ tyf cGoaf6 cfo 3,429.81                           
!=# Aoj:yf lkmtf{
!=$ cGo cfDbfgL
@ Aoj:yf tyf vr{x? -@=! b]lv @=& ;Dd_ 1,791.21                          
@=! Aoj:yfkg vr{ 87.25                               
@=@ z]o/ ;DalGw vr{
@=# cGo vr{ 14.30                               
@=$ gf]S;fgLsf] nflu Aoj:yf
@=% sd{rf/L cfjf; Aoj:Yff
@=^ sd{rf/L af]g; Aoj:Yff 456.67                             
@=& cfos/ 1,233.00                           

v'b gfkmf÷gf]S;fg -! – @=_ 2,876.99                         

qm=;++ ljj/0f klxnf] q}dfl;s

! cfo -!=! – !=^ ;Dd_ 93,921.28                        
!=! aLdfz'Ns -v'b_ 25,792.89                         
!=@ k'gaL{df sldzg cfo 134.64                             
!=# nufgL, shf{ tyf cGoaf6 cfo 1,076.18                           
!=$ cGo k|ToIf cfo 612.27                              
!=% q}dfl;ssf] z'?sf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf 19,152.86                          
!=^ q}dfl;ssf] z'?sf] c;dfKt hf]lvd afkt Joj:yf 47,152.42                         
@ Aoo -@=! – @=( ;Dd_ 92,682.89                       
@=! bfjL e'QmfgL -v'b_ 9,346.96                           
@=@ clestf{ sldzg
@=# k'gaL{df sldzg vr{ 5,388.40                          
@=$ ;]jf z'Ns -v'b_ 257.93                             
@=% cGo k|ToIf vr{ 934.13                             
@=^ Aoj:yfkg vr{ 785.22                             
@=& cfos/
@=* q}dfl;ssf] cGTosf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf 20,465.90                         
@=( q}dfl;ssf] cGTosf] c;dfKt hf]lvd jfkt Aoj:yf 55,504.36                         
# art -!_  - -@_ 1,238.39                           
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